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@ 6+ (-2)=-3

®0+3=0

@ 3+(-1)=-3

1

@3+ (+3)

D0+3=0

|
—

® (-4) + (-4)

I
—

® (-3)+(+3) =-1




89. t& T At &1 A2?

D (<15) = (+3) = -5 @)(-1)+ (-1) =0
® 30+ (=5) = -6 @ (-8)+(-1)+2=4
® (-21)+3+(-7) =1




90. o S A At 7P 2 27

:<—|— X|\+=] =3
1 6 1 (1) 6
s (=30)+ - =-x|-—— =
® 1+(B0+5=7x{-35)+3
_( 1)+144_143
T\ 12 120 120
3 5 1 3 14 1 6 1 7
R I e e




91 thE F AN AT} 1Y 2 A

@5—(—3+%)x6 @(Z—g)+§+l
o2 (1-(F-)p  @me()x(545
1

4 1 3
2+ {1 (f-5)} =2+ (1-73)
:2)(&
11
28
~1
1 2 1 1 1
@11+ (-3)x(G+5) =11+ (-3) 3
_n-t
4
43
-7
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93. o= T &4 42 A2?

@ (-4) x (=5) + (-56) + (+7) =12
@ (-10)x22+4-(-6)=-4
® 7-(-3)x4-(-10) =29

@12+ (-4)+ (-2) x3 = 12

® 32x4+6-(-8) =14

8

S
N
—~ >

~56) + (+7)
}+{(=56) = (+7)}

0 —
—
I
ot
~

—_
o+
[N}
=
~
+ X
i
o
~—

S)

| |

—~ O
=

X

- N
[\v]

q>

/-\

@

=

A,_M/T\,_A,r—\
=~
S
=
|
=~
|
T
(=2
S~—

|
W~

® 7-(-3)x4-(-10)
=7-{(-3)x4} - (-
=7-(-12) - (-10)
=7+12+10
=29

@ 12+ (-4) + (-2) x 3
=12+ {(-4) + (-2)} x3
=124 (+2) x3
=12+6
=18

®32x4+6-(-8)
— (32x4) <6 (-8)
—36=6-(-8)
=6+38
=14




94. ThE F 8 AL?

rlo

@© (=3) + (+8) x (=16) = (+4) + 21 = 14
@ (-12) x (=3%) + 6 — (-62) +4 = —58
® 11— (+3?) - 23 x (-10%) = (=5) = -80
@ 12+ (-4) = (-2) x 3 =-12
@32x4+6—(—8)><4:38

~&B

@D (-3) + (+8) x (~16) = (+4) + 21 = -14
@ (-12) x (-3%) = 6 — (=62) + 4 = 58

® 11 - (+3%) - 23 x (-10%) + (-5) = —158
@12+ (-4) = (-2)x3=18
®32x4+6-(-8) x4=38




95. (-3)2x(-2%) + {(-2)x (-4) + 1} + 6 = AAI5IH?

® 10 @ -20 ® -10 @ -2 (22)2

(FA) =9x(-4)+(8+1)+6
(-36) +9+6

—4+6=2




